02

Before You Start

m
| Zl

>B BBk

> B

BBDbPBP

> B

Please read all instructions carefully.

Retain instructions for future reference.

Separate and count all parts and hardware.

Read through each step carefully and follow the proper order.

We recommend that, where possible, all items are assembled near to the area in
which they will be placed in use, to avoid moving the product unnecessarily once
assembled.

Always place the product on a flat, steady and stable surface.

Keep all small parts and packaging materials for this product away from babies
and children as they potentially pose a serious choking hazard.

Avant de Commencer

Veuillez lire attentivement toutes les instructions.

Conservez les instructions pour vous y référer ultérieurement.
Vérifiez toutes les piéces et les accessoires.

Lisez attentivement chaque étape et suivez I'ordre correct.

Nous recommandons que, dans la mesure du possible, tous les produits
soient assemblés a proximité de la zone ou ils seront utilisés, afin d’éviter tout
déplacement inutile du produit une fois assemblé.

Placez toujours le produit sur une surface plane et stable.

Conservez toutes les petites pieces de ce produit et les matériaux d’emballage
hors de portée des bébés et des enfants, car ils pourraient présenter un risque
d’étouffement.



Important Safety Instructions

SAVE THESE INSTRUCTIONS

WARNING: THIS CHAIR IS MADE FOR THE EXPLICIT
PURPOSE OF PROVIDING OUTDOOR FUNCTIONS AND
IS NOT TO BE USED AS A TOY. THIS PRODUCT IS
INTENDED FOR NORMAL OUTDOOR USE; HOWEVER,
THE MANUFACTURER RECOMMENDS STORING AND/OR
COVERING THIS PRODUCT WHEN ANY
FORMIDABLE/SEVERE WEATHER IS APPROACHING.

WARNING: DO NOT LOCATE THIS PRODUCT NEAR
OPEN FLAMES. DO NOT USE THIS PRODUCT AS A
SUPPORT. DO NOT SHAKE, LEAN OR CLIMB ON THE
PRODUCT. CHILDREN UNDER THE AGE OF 10, NEAR
THE PRODUCT, SHOULD BE SUPERVISED BY A
COMPETENT ADULT AT ALL TIMES. THIS PRODUCT IS
NOT INTENDED FOR COMMERCIAL USE.

READ ALL INSTRUCTIONS BEFORE USE
To reduce the risk of injury to persons:
1. Close supervision is necessary when this furnishing is used by or near

children, or disabled persons, if applicable.

2. Use this furnishing only for its intended use as described in these
instructions. Do not use attachments not recommended by the
manufacturer.

3. Do not move the chair while it is occupied. Failure to obey this caution
could result in injury.

03



04

> b

> B> B B P

CAUTION: When not in use, secure the product in a
cool and covered location.

CAUTION: Do not locate the product near any heat
sources.

WARNING: Weight limit for the chair is 225 Ibs (102 kg)
for each seat.

WARNING: Please keep children out of the assembly
area before assembly.

WARNING: This chair unit is heavy, and may require
two adults for safe assembly.

WARNING: Never use this product as a support. Do not
shake, lean, or climb on the product at any time.

CAUTION: Do not locate the product near any heat
sources.



Pre-Assembly (continued)

HARDWARE INCLUDED

@ NOTE: Hardware not shown to actual size.

4wy w N\

Part Description Quantity
AA M6x30 Bolt 8+1
BB M6x35 Combination Bolt 4+1
CC Hex Wrench 1

PACKAGE CONTENTS

Part Description Quantity
A1 Chair Left Arm 2
A2 Chair Right Arm 2

B Chair Body 2

05



06

Assembly

1 Connecting The Chair Arms To The Chair Body
m Place the chair body (B) on a soft surface.

m Attach the chair arms (A) to the seat of chair body (B) using M6x30
bolts (AA).

m Do not tighten all the bolts at this step.




2 Connecting The Chair Arms To The Chair Body

m Attach the chair arms (A) to the back of chair body (B) using M6x35
combination bolts (BB).

m Do not tighten all bolts at this step.

07



Assembly (continued)

3 Tightening All Bolts

m Once all of the bolts are in place, fully tighten all the bolts using the
hex wrench (CC).

m Ensure all connections are secure before use.

Care and Cleaning

m For best results, clean the frame and fabric with a damp cloth and dry
thoroughly. This will help prevent mildew by removing dirt particles that
may accumulate.

m Do not clean with abrasive materials, bleach or solvents.
m Store the chairs in a dry sheltered place when not in use.

m Keep the chairs out of fire, extreme heat, freezing conditions, and
inclement weather such as rain, hail, sleet, snow, or wind.

08



